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In[5]:=
GraphPlot[g, Method - "SpringElectricalEmbedding"]
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Out[5]=
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T

nel= h={1-2,2-3,3-54,4-55,5-51,1-6,
6-»8,8-510,10-»7,7-59,9-56,2-510,3-59,4-58,5->7};

(* Petersen Graph x*)

n[7]:= GraphPlot[h, Method - "SpringElectricalEmbedding", VertexLabeling - True]
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ngl:= GraphPlot[h, Method - "SpringEmbedding", VertexLabeling - True]
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out[8]=

In9:= GraphPlot[h, Method - "HighDimensionalEmbedding", VertexLabeling - True]
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nf10)= h={1-+2,2-3,3»>4,4-55,5-51,1-56,6-»3,3-58,8-55,5-10,
10-2,2-57,7->4,4-59,9-51,11>56,11>7, 1158, 1159, 11 -10};
(* Mycielski Graph =*)
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In[11]:=
GraphPlot [h, Method - "SpringElectricalEmbedding", VertexLabeling - True]
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In[12]:= GraphPlot[h, Method - "SpringEmbedding", VertexLabeling - True]
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In[13]:=
GraphPlot[h, Method - "HighDimensionalEmbedding", VertexLabeling - True]
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